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TOSSUPS
1. In one play by this author, a blond stranger bends a tall tree for another character to sit in the branches, before that character is mistaken for a mountain lion and killed. Another of this author’s plays ends after Talthybius returns to the stage carrying the corpse of the baby Astyanax on his shield. He wrote a play in which Agave murders her own son Pentheus during a ritual of Dionysus, as well as a play about a barbarian woman who murders her own children after Glauce steals her husband Jason. For 10 points, name this author of The Bacchae, The Trojan Women, and Medea, the youngest of the three Greek tragedians.
ANSWER: Euripides
2. This team included Jeff Hornacek during one season in which they lost the NBA Finals because of the Flu Game. Currently their roster includes a player who missed a half-court buzzer-beater against Duke in the NCAA Championship and a guy who the Nets traded to them with Devin Harris and draft picks for Deron Williams. They have Gordon Hayward and Al Jefferson but more famous people associated with this franchise include coach Jerry Sloan, the NBA’s all-time assists leader, and a power forward nicknamed “The Mailman”. For 10 points, name this team, whose former players include John Stockton and Karl Malone.
ANSWER: Utah Jazz [accept either underlined portion]
3. One character in this novel claims to have made a vow to Our Lady of the Grotto in order to explain his long hair and beard and later tells his former lover, “Madam, I never eat muscatel grapes.” One character in this work tells how Caesar Spada was murdered by Pope Alexander I. In one scene the Abbe Busoni gives a large diamond to Caderousse and learns of the fate of Pierre Morel, who owns a ship called the Pharaon. Its title character meets the Abbe Faria while imprisoned in the Chateau d’If after he is framed by Danglars and Villefort for abetting a Napoleonic conspiracy.  For 10 points, name this Alexandre Dumas novel about the revenge of Edmond Dantes. 

ANSWER: The Count of Monte Cristo
4. While on Cyprus, this man extorted money from Salamis by giving it a much-needed loan at 48% interest. After Dolabella’s death, this man put his own face on coins he minted by squeezing Asia dry. According to Suetonius, this man was once asked, “Kai su, teknon?” This man scandalously divorced his wife Claudia to marry Porcia Catonis. Claiming descent from the consul who threw Tarquin the Proud out of Rome, this man resisted Marc Antony, but killed himself after the Second Battle of Philippi. For 10 points, name this assassin of Julius Caesar, to whom Caesar said, “et tu?”

ANSWER: Brutus [or Marcus Junius Brutus; or Quintus Servilius Caepio Brutus]
5. In Native American myth, one of these animals named Ictinkike served as a war god. In addition to foxes, the Shinto food god Inari often took this form in order to nudge people toward doing good deeds. Another of these animals once dropped a pot filled with the world’s wisdom while trying to climb down a tree and in another story traded a python, a leopard, some hornets, and a dwarf to Nyame for all the world’s stories. In Greek myth, one of these creatures was originally a woman who was punished for depicting stories of the love affairs of the gods during a weaving contest with Athena. For 10 points, name this eight-legged animal exemplified by Anansi and Arachne.
ANSWER: spiders
6. In astronomy, the variation in this quantity at different galactic radii makes up a rotation curve. According to the virial theorem, this quantity is equal to the square root of big G times mass over radius. One form of this quantity is inversely related to the square root of a fluid’s density times an object’s area times the drag coefficient. The magnitude of the centripetal acceleration is equal to this quantity squared over the radius. One component of this quantity is equal to the direction of motion, while the other is generally equal to distance over time. For 10 points, name this vector whose magnitude is equal to speed.
ANSWER: velocity
7. The victim of this action was supposed to be driven down Appel Quay, an order that Oskar Potiorek failed to give to Leopold Loyka. The leader of the organization that committed this act was codenamed “Apis” for his bull-like stature. After this action, one country issued the July Ultimatum, which was designed to be impossible to fulfill. This action was carried out by a member of the Black Hand named Gavrilo Princip and led to the Austro-Hungarian declaration of war against Serbia. For 10 points, what 1914 murder is commonly viewed as the immediate cause of World War I?
ANSWER: assassination of the Archduke Franz Ferdinand and Sophie [accept equivalents such as murder or death for “assassination”]
8. This artist created an image of a rose petal on a piece of driftwood after an inspirational meeting with Paul Strand. Fred Archer helped this man develop a scale for EV levels that he called the Zone System. One of his most famous works of art depicts the night sky above a cemetery. Imogen Cunningham and Edward Weston helped him found the group f/64. Albert Bender helped him publish his book Parmelian Prints of the High Sierras, which contained his photograph Monolith, the Face of Half Dome. For 10 points name this photographer of Moonrise, Hernandez, New Mexico, and a bunch of photos of Yosemite National Park.
ANSWER: Ansel Adams
9. One stanza in this poem describes “many a gem of purest ray serene” that the “dark, unfathomed caves of ocean bear.”  Near the beginning of this poem, a ploughman “plods his weary way, / and leaves the world to darkness and to me.” This poem hypothetically describes “some mute inglorious Milton” and “some Cromwell guiltless of his country’s blood.” Thomas Hardy took his title Far From the Madding Crowd from this poem, which states that “the paths of glory lead but to the grave” and begins with a curfew tolling “the knell of parting day.” For 10 points, identify this elegy on death by Thomas Gray.
ANSWER: “Elegy Written in a Country Churchyard”

10. One man who opposed this organization was John Taylor of Caroline, who argued that its creation could lead to the end of slavery. This organization’s second president, Langdon Cheeves, had replaced an officer of this organization who had been involved in an 1819 Supreme Court case brought about when the state of Maryland attempted to undermine a branch of this organization. Roger Taney was appointed Secretary of the Treasury in an attempt to destroy this organization by Andrew Jackson, who was opposed by this organization’s final president, Nicholas Biddle. For 10 points, name this financial institution in existence from 1816 to 1836.
ANSWER: Second Bank of the United States [prompt on “Bank of the United States,” prompt on “BUS,” do not accept “First Bank of the United States”]
11. This composer included a song that begins “I often think: they have only just gone out” in a cycle of works based on poems by Friedrich Ruckert.  The book Des Knaben Wunderhorn influenced the lyrics of another piece by this composer. This composer of Songs of a Wayfarer and Kindertotenlieder attempted to avoid the “curse of the ninth” while writing a work based on Hans Bethge’s loose translations of the poetry of Li Po. His first symphony has a third movement funeral march based on the melody of “Frere Jacques.” For 10 points, name this composer of The Song of the Earth and the Titan Symphony.
ANSWER: Gustav Mahler
12. In one of this man’s experiments, subjects are asked which of two differently-spaced rows of the same number of pennies contains more coins. This thinker argued that his subjects used “schemata” to interpret the world, and, when faced with new information, had the dual options of “assimilation” and “accommodation.”  This developer of “genetic epistemology” described the beginning of egocentrism and the development of object permanence in outlining a theory that includes formal operational and sensorimotor stages. For 10 points, name this Swiss psychologist, who outlined a four-stage model of development.
ANSWER: Jean Piaget
13. In one of this author’s stories, a reading of H.G. Wells’ The Outline of History shakes the faith of David Kern, who becomes comforted when he shoots the title birds. One of this author’s protagonists has sexual relations with ex-prostitute Ruth Leonard while his wife is giving birth to their daughter Rebecca June. This author of “Pigeon Feathers” created a salesman for MagiPeeler who becomes “Rich” after his wife Janice inherits a Toyota dealership and who concludes a tetralogy “at Rest.” For 10 points, name author whose creation, former high school basketball star Harry Angstrom, appears in novels like Rabbit, Run.
ANSWER: John Updike
14. This man depicted an artist leaning on his elbow next to an unfinished Pieta in his Michelangelo in His Studio. One of his paintings shows the title animal attacking the leg of a rearing horse, while another is set in a palace where concubines are being murdered in preparation for the title event. This creator of Tiger Hunt and Death of Sardanapalus is best remembered for a painting featuring a small boy pointing a gun at the sky while the title character stands on a pile of bodies and waves the French flag. For 10 points, name this artist who created Liberty Leading the People.
ANSWER: Eugene Delacroix

15. Barfoed’s test carries out this type of reaction to copper (II) acetate to determine the presence of monosaccharides. Reagents such as Raney nickel and a palladium catalyst can achieve this type of reaction in carbon. Hydrochloric acid and a zinc-mercury amalgam are the reagents used in the Clemmensen type of this reaction. In acidic conditions, potassium hydroxide and hydrazine combine in the Wolff-Kishner type of this reaction. For 10 points, name this chemical reaction that adds electrons to unsaturated compounds, opposing oxidation.
ANSWER: reduction

16. This thinker discussed the teleological explanation of the purposes of kidneys and teeth in relation to the last of his four causes, and he claimed that the soul and body are special cases of matter in comparison to a tool in his De Anima. In another work, this thinker outlined various deficiencies that correspond with a series of moral virtues and proposed that the goal for all humans is to achieve a state of well-being and happiness that he termed eudaimonia. That work was named for the son of this thinker, who also discussed peripeteia and catharsis as key elements of tragedy in another work. For 10 points, name this student of Plato who wrote the Nicomachean Ethics and Poetics.
ANSWER: Aristotle
17. This body of water is bounded on the south by the Taman peninsula, which features many mud volcanoes. In classical antiquity, this body of water was known as Lake Maeotis, and it was called the Sea of Surozh by medieval Russians. Its average depth is only 23 feet, making it the shallowest sea in the world. Major rivers that flow into this body of water include the Kuban and the Don. The city of Mariupol in Ukraine is the most populous city located on this body of water. For 10 points, name this arm of the Black Sea that borders the Crimean peninsula.
ANSWER: Sea of Azov
18. Squaline epoxidase and prenyl transferase are two enzymes involved in the synthesis of this substance, which is upregulated by SREBP. Mevalonate is an intermediate in the synthesis of this substance, which begins with HMG-CoA. This substance is used as a precursor in the synthesis of vitamin D. This substance can be produced by the liver, and like tryglycerides, it can accumulate and lead to heart disease. For 10 points, name this fat-like compound, which comes in HDL and LDL types.
ANSWER: cholesterol
19. One president of this country tried to combat the ERP by issuing “annihilation decrees” in Operation Independence. In this country, dark green Ford Falcons were used by death squads like José Lopéz Rega’s “Triple A” that crushed leftist groups like the Montoneros. This country underwent the “National Reorganization Process” under President Jorge Videla, better known as the Dirty War. That war began under a woman named Isabel, the wife of another president of this country who was supported by the descamisados. For 10 points, name this country once ruled by the husband of “Evita,” Juan Peron.

ANSWER: Argentina
20. If two random variables have this property, then their covariance is equal to zero as the expected value of their product is equal to the product of their expected values. Any given element of the basis of a vector space has this property with respect to any subset of the basis. That’s because no basis is formed of vectors that cannot be written as a linear combination of each other and are therefore linearly this. If two events, A and B, are this, then the probability of both of them occurring is equal to the probability of A times the probability of B. The effect of, for 10 points, what type of variable is traditionally measured in science experiments?
ANSWER: independent [or word forms; do not accept or prompt on “dependent”]
TIEBREAKERS
This figure defeated Sihon of Heshbon and King Og at the Battles of Jahaz and Edrei, respectively. After hearing news of this man’s army, Balak asked Balaam to curse it. At Meribah this father of Gershom and Eliezer lived up to his name by drawing water out of a rock. After saving the seven shepherdess daughters of Jethro in Midian, this man was given Zipporah in marriage. When he was a baby, this man's sister placed him in a basket of rushes and set him adrift on a river, and when he was older he found a burning bush that spoke to him. This man also notably turned the Nile in to blood and parted the Red Sea. For 10 points, name this man who led the Jews from Egypt in the Exodus.
ANSWER: Moses

One poem written in this language appears in the collection Leaves of Olives and begins by saying “my identity card number is fifty thousand.” A modern writer who introduced free verse and prose poetry into this language took the pseudonym “Adonis.” Richard Burton translated a collection of stories in this language, including “The Ebony Horse” and “The City of Brass,” whose frame narrative involves a king who puts off his wife’s execution every night to hear the end of her stories. Mahmoud Darwish writes in, for 10 points, what language, whose folk tales were compiled in The Thousand and One Nights?
ANSWER: Arabic
BONUSES

1. One philosopher from this country wrote about the elan vital as a revision of Darwin's theory of natural selection in his Creative Evolution. For 10 points each:
[10] Name this country home to Henri Bergson as well as Jean-Paul Sartre.

ANSWER: France
[10] Much earlier than Bergson or Diderot was this scholastic philosopher and theologian who wrote of his castration in the autobiographical Historia Calamitatum. He is best known for his love letters to Heloise.
ANSWER: Peter Abelard [Accept Petrus Abaelardus.]
[10] This tract by Abelard identifies contradictions between statements from early theologians endorsed by the Catholic Church and asks a series of 158 questions that can have the two title answers.
ANSWER: Sic et Non or Yes and No
2. This effect causes the pitch of a siren that is coming towards you to increase. For 10 points each:
[10] Name this effect that causes redshift and blueshift.
ANSWER: Doppler Effect
[10] In the relativistic Doppler Effect, the ratio of the source frequency to the observed frequency is equal to the square root of one plus this value over one minus this value, which is squared in the Lorentz factor.
ANSWER: beta [or velocity over the speed of light; or v over c; accept equivalents; accept speed for velocity]
[10] According to Special Relativity, the Doppler Effect can still occur when an object’s velocity along this axis equals zero. In a two-body system, the gravitational force will always lie on this axis.
ANSWER: radial
3. In this opera, the Duke of Mantua sings “Questa o quella” to show that all women are the same to him, while the most famous aria is “La donna e mobile.” For 10 points each:
[10] Name this opera about the fall of a hunchbacked court jester.
ANSWER: Rigoletto
[10] Rigoletto is an opera by this composer, whose other operas include La Traviata and Il Trovatore.
ANSWER: Giuseppe Verdi
[10] This opera by Verdi was based on a Renaissance play. Its fourth act begins with a “Willow Song” and Ave Maria, and its antagonist sings a Credo before setting his plan into motion.
ANSWER: Otello
4. This creature was the result of a certain Cretan king's failure to sacrifice to Poseidon, who angrily caused Pasiphae to fall in love with a very handsome bull. For 10 points each:
[10] Name this half-man, half-bull creature that lived in the Labyrinth.
ANSWER: Minotaur
[10] Theseus slew the Minotaur but accidentally forgot to change the sail of his ship as he sailed back to Athens, leading this man, his father, to kill himself by jumping into a namesake sea.
ANSWER: Aegeus
[10] A similar story occurs in Arthurian legend, in which this knight succumbs to his mortal wounds while waiting for a woman who was supposed to fly white sails. Earlier, he made enemies with King Mark.

ANSWER: Sir Tristan or Sir Tristram
5. For 10 points each, answer the following questions about enzyme reactivity:
[10] This type of reversible inhibition occurs when the inhibitor binds only to the enzyme-substrate complex and inactivates it.  It causes a decrease in the value of Vmax.
ANSWER: uncompetitive inhibition [do not accept “non-competitive”]
[10] Irreversible inhibition uses this type of bond, in which electrons are shared between the two atoms.
ANSWER: covalent bond
[10] This most prominent equation relating enzyme kinematics was named after the two scientists that derived it and proposes a steady-state equilibrium between enzyme-substrate complex and the product.
ANSWER: Michaelis-Menten equation

6. Two clouds can be seen in the background of this work, most of which is taken up by a green hill. For 10 points each:
[10] Name this Wassily Kandinsky painting, which depicts a figure on horseback as he rides in front of a building. It lent its name to an almanac and an expressionist art movement.
ANSWER: Der Blaue Reiter [or The Blue Rider]
[10] Kandinsky is an artist from this country. Another artist from this country, Ilya Repin, made a painting of Ivan the Terrible as well as Barge Haulers on the Volga.
ANSWER: Russia
[10] This Swiss member of Der Blaue Reiter used abstraction similarly works like Ad Parnassum, Fish Magic, and Twittering Machine.

ANSWER: Paul Klee

7. Answer the following about former German colonies, for 10 points each.
[10] The only profitable German colonies were Togoland and some German occupied islands, which currently make up the Independent state of this name. The American island group of this name has its capital at Pago Pago.
ANSWER: Samoa
[10] The former colony of German South-West Africa eventually became this country after being controlled by South Africa for 75 years. The Germans committed genocide against the Herero in this country.
ANSWER: Republic of Namibia
[10] A much earlier colony of a German state, the electorate of Brandenburg, was established on the island of Arguin in the North Atlantic that now belongs to this West African nation with capital at Nouakchott.
ANSWER: Islamic Republic of Mauritania
8. For 10 points each, name some presidents of the French Fifth Republic.
[10] This man was the first president of the Fifth Republic. Earlier he led the Free French Forces during World War II.
ANSWER: Charles de Gaulle
[10] The longest-serving President was this Socialist, who patronized grand architectural projects like the Musee d’Orsay and the Louvre Pyramid.
ANSWER: François Mitterrand
[10] This successor of Mitterrand served as the first Mayor of Paris before forming the Union for a Popular Movement while president. He was Prime Minister under Mitterrand during the cohabitation.
ANSWER: Jacques Chirac
9. Answer these questions about Noam Chomsky, for 10 points each.
[10] Chomsky believes in a “universal” form of this kind of structure that innately governs the use of words and phrases in a given language. 
ANSWER: grammar
[10] Chomsky showed that a sentence can make no sense, but have correct grammar, with a sentence in which colorless green ideas sleep in this manner.

ANSWER: furiously [do not accept other answers]
[10] In Syntactic Structures, Chomsky proposed a theory of this kind of grammar. In this theory, the sentences “John reads a book” and “A book is read by John” have the same “deep structure,” but different “surface structures.”

ANSWER: transformational grammar [or transformational-generative grammar; prompt on generative grammar]

10. This man encouraged the Christian faith of the martyrs Mark and Marcellian and cured the muteness of Zoe while serving as a captain in the Praetorian Guard under Diocletian. For 10 points each:
[10] Name this martyr who survived being tied to a post and shot with many arrows, forcing the Romans to try again by beating him to death.
ANSWER: Saint Sebastian
[10] This saint was sentenced by the Sanhedrin while serving as deacon in Jerusalem shortly after Christ's death, thus becoming the first Christian martyr.
ANSWER: Saint Stephen
[10] Saint Catherine rejected Emperor Maxentius' marriage proposal by stating that she had already dedicated her virginity to Christ; the first attempt on her life failed when God destroyed one of these torture instruments. ANSWER: a breaking wheel [or a Catherine Wheel]

11. This author’s invented mythology included the figure Albion, who represents humanity, and whose fall resulted in the creation of the Four Zoas. For 10 points each:
[10] Name this poet and illustrator who described an “invisible worm that flies at night in the howling storm” in his poem “The Sick Rose.”
ANSWER: William Blake
[10] In this other Blake poem, the speaker is an orphan whose father sold him when he was too young to cry “weep! weep!” and who therefore sleeps in soot.
ANSWER: “The Chimney Sweeper”
[10] In this poem by Blake, often paired with “The Lamb,” the title animal is described as “burning bright,” and possesses a “fearful symmetry.”
ANSWER: “The Tyger”
12. This project was the domain of a task force administered by Ira Magaziner and headed, unusually, by the First Lady. For 10 points each:

[10] Name this effort that produced an unpopular 1350-page bill, which was attacked in television ads about “Harry and Louise.” Public sentiment against it was a large reason for the “Republican Revolution” of 1994. 

ANSWER: the Clinton Health Care Plan of 1993 [or Hillarycare; or the Health Security Act; do not accept or prompt on “Obamacare” or the “Affordable Care Act”]

[10] The ideological leader of the Republican Revolution was this Georgia congressman, who became Speaker of the House. He outlined several commitments for the new Republican congress in his “Contract with America.”

ANSWER: Newton Leroy Gingrich
[10] One of Clinton’s most controversial deals with the Republican Congress was his signing of this act, which defined marriage as between one man and one woman.

ANSWER: DOMA [or the Defense of Marriage Act]
13. The Battle of Te Ranga ended the Tauranga Campaign against this group during the larger Waikato War. For 10 points each:
[10] Name this ethnic group, an “iwi” of which named Ngai te Rangi defeated British forces under Sir Duncan Cameron in the Battle of Gate Pa. They are the natives of New Zealand.
ANSWER: Maori
[10] This controversially worded 1840 treaty ended the wars between the British and Maori and established a British Governor over New Zealand.
ANSWER: Treaty of Waitangi
[10] Maori tribes fought against one another in this bloody series of 19th-century wars, named for the firearms they had obtained from westerners.

ANSWER: the Musket Wars

14. Name some stuff about a certain organ in the body, for 10 points each:
[10] This endocrine organ helps you out by secreting hormones like insulin, glucagon, and somatostatin.
ANSWER: pancreas
[10] The alpha and beta cells of these lightly staining clusters in the pancreas secrete insulin and are attacked in type 1diabetes.
ANSWER: Islets of Langerhans
[10] Another organ whose delta cells secrete somatostatin is this almond-sized organ that forms the ventral portion of the diencephalon.
ANSWER: hypothalamus
15. One figure in this poem is described as “marble-heavy, a bag full of God.” For 10 points each:
[10] Identify this poem which states “you do not do / any more, black shoe” and addresses the title figure as a “bastard.” Ted Hughes is the “man in black with a Meinkampf look” whom its speaker claims replaced her father.
ANSWER: “Daddy”
[10] This posthumously published collection of poetry contains “Daddy” as well as “Lady Lazarus.”
ANSWER: Ariel
[10] This suicidal poet of “Daddy” and “Ariel” wrote of Esther Greenwood’s struggles with mental illness in her novel The Bell Jar.
ANSWER: Sylvia Plath

16. This band’s hits include the songs “The Cave” and “Sigh No More”. For 10 points each:
[10] Name this band from England, the darling of sorority girls and frat bros alike, that made the album Sigh No More.
ANSWER: Mumford and Sons
[10] Mumford and Sons just released this album that includes the tracks “I Will Wait” and “Ghosts That We Knew”.
ANSWER: Babel
[10] Mumford and Sons played “Maggie’s Farm” at the 2010 Grammys with Bob Dylan and this other band, whose new album The Carpenter includes the song “The Once and Future Carpenter”.
ANSWER: The Avett Brothers

17. This character predicts the death of Berlioz, a MASSOLIT member, minutes before Berlioz is decapitated. For 10 points each:
[10] Identify this character whose assistants include Azazello and Korovyev, and who hosts a Grand Ball on Walpurgis Night.
ANSWER: Woland [or Satan]
[10] Woland appears with his retinue in this Mikhail Bulgakov novel, in which he asks a woman to host the Grand Ball. That woman’s husband wrote a novel about the meeting of Pontius Pilate and Yeshua Ha-Nostri.
ANSWER: The Master and Margarita
[10] The title characters of The Master and Margarita earn peace, but not this other prize. In the Bible, God says “let there be” this thing and then sees that this is good.
ANSWER: light

18. Elements that move slowly during this process are known as turtles. For 10 points each:
[10] Name this type of algorithm, by which a list of randomly assorted items are placed in order.
ANSWER: sorting
[10] This simple comparison sort algorithm works by repeatedly going through a list and swapping elements that are in the wrong order. Odd-even sort is related to this algorithm.
ANSWER: bubble sort
[10] This man invented merge sort in addition to proving the minimax theorem.
ANSWER: John von Neumann
19. This woman had all the clocks in her mansion stopped at twenty minutes to nine. For 10 points each:
[10] Name this wealthy, bitter spinster who raises her adoptive daughter to be unable to love and who dies from her wedding dress catching fire.
ANSWER: Miss Havisham
[10] The orphan Pip pursues Estella in this novel, eventually discovering that his benefactor is not Miss Havisham but rather the convict Magwitch.
ANSWER: Great Expectations
[10] This Victorian author created characters like Oliver Twist and David Copperfield in addition to writing Great Expectations.
ANSWER: Charles Dickens
20. This man invaded Italy to depose Pope John XII and set up Leo VIII in his stead.  For 10 points each:
[10] Name this German ruler who won the decisive battle of Lechfeld.

ANSWER: Otto I [or Otto the Great]
[10] At the Battle of Lechfeld, Otto overcame Lel and Sur, chieftains among these people.  These barbarians had often raided Christian kingdoms, even destroying Moravia, but settled down in Hungary after Lechfeld.

ANSWER: Magyars [prompt on Hungarians]

[10] Otto the Great was arguably the first to hold this title. The holder of this position led a namesake Central European empire.
ANSWER: Holy Roman Emperor [or HRE; or Emperor of the Romans]
EXTRA BONUS

For 10 points each, answer the following questions about thermodynamics.
[10] This theoretical type of engine proposes a completely reversible process; it has four distinct thermodynamic states, which alternate between isothermic and adiabatic.
ANSWER: Carnot heat engine [accept Carnot engine]
[10] This value for a Carnot cycle is equal to the difference between the temperature at which heat is inputted and outputted over the temperature at which heat is inputted.
ANSWER: Carnot efficiency
[10] In order for a heat engine to approach Carnot efficiency, it can’t cause a change in this value which, according to the Second law of Thermodynamics, tends to increase with time.
ANSWER: entropy

